
There is/ It is - różnice 

Konstrukcji „there is/ there are” używamy wyłącznie do wyliczania kolejnych rzeczy. 

„There” nie jest tutaj podmiotem, jedynie wypełnia konieczność jego istnienia w zdaniu. 

Tłumacząc konstrukcję na język polski najlepiej byłoby posłużyć się słowem „jest” lub „są”, 

zawsze potem wyliczając listę kolejnych rzeczy lub osób. „There is/are” używane jest 

wyłącznie do zasygnalizowania obecności jakiejś rzeczy lub wyliczenia listy ludzi lub 

przedmiotów.  

Konstrukcja „it is” jest zasadniczo różna. Zwrot „it is” tłumaczymy już jako „to jest” 

lub „jest” niezależnie od reszty zdania. Tutaj nie trzeba wyliczać. 

 „It” funkcjonuje jako podmiot, tak samo zresztą jak i fraza następująca po „is”.  

Np.: It is (kto? co?) a cat -  To jest kot. 

Pytanie do zdania z “it is” zadajemy przez inwersję. Tak więc pytanie do powyższego zdania 

będzie brzmiało: 

Is it a cat? – Czy to jest kot? 

Przykładowe zdania z „there is/are” i „it is” będą brzmiały: 

There is a car in front of the building – Przed budynkiem jest samochód. 

It is easy to criticize – Łatwo jest krytykować. 

There are some people in the room – W pokoju jest grupa ludzi. 

It seems impossible to do – To jest niemożliwe do zrobienia. 

 

(Źródło: https://www.gramatyka-angielska.info/s/2046/54167-Gramatyka-angielska/303639-

There-is-It-is-roznice.htm) 

 

Exercise 1: Choose the correct answer a – c.  

1. …my Mum waiting for me when I left the station. 

a) There is 

b) There was 

c) There were 
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2. I’m sorry, but … enough time to go to the restaurant tonight. 

a) there is 

b) there wasn’t 

c) there isn’t 

3. … any Coke in the fridge when  arrived from school. 

a) There was 

b) There wasn’t 

c) There weren’t 

4. … too much noise if you play the music so loud. 

a) There will be 

b) There won’t be 

c) There was 

5. How many bottles of wine … in the cellar? 

a) was there 

b) there were 

c) were there 

6. She would have bought the dress if … a nicer shop assistant. 

a) there had been 

b) there was 

c) there wasn’t 

7. … any parents’ meetings at school since October. 

a) there weren’t 

b) there hasn’t been 

c) there haven’t been 

  



8. How much money … in the bank yesterday? 

a) were there 

b) was there 

c) is there 

9. If you leave early, …such big traffic. 

a) there wasn’t 

b) there wouldn’t be 

c) there won’t be 

10. … any cinemas in Krakow? 

a) Are there 

b) Is there 

c) There are 

 

Exercise 2: Put the correct form of there is 

1.I’m looking for a dictionary. … one on the shelf. 

2.… many native speakers in your college? 

3.… any plates on the table? 

4.… anyone waiting for me yesterday. 

5.Look! … three coins on the table a second ago and now … only one. 

6.… about 70 guests at last year’s wedding reception. 

7.How many girls … in your class when you were at primary school.  

8.… any bread left? I’m hungry. 

9.Did you enjoy your studies? Oh yes, … very many interesting courses. 

10.              … 100 people coming to our party tomorrow. 

 


